214400

2016

8

X y)

e 34
1.
(1)
(2)
(3)
(1) (
1)
1
(2)
= le%
x 100%
x 100%
A'\B)
® (A X x)

x 100%



2016

(1) +
(2)
@ 100g
®100g+ -
3 =
:100g: ( 100g + )
@ (S g) (p%)
.o 100p s
5100 -8 P% =100 4, ¥ 100%
(3) = x 100% =
x 100%
+
(4)
( m)
X =
X = +m)
X
1. ( 1)
1
1 (2014 ) €
»
( CCL,FCH,)
( ) o
A —
B. — 5
C.— 117 g
D.
8:

© 35
A — N
R B ;
c —
12%x2:1x3=8:1D
D
2 ( 2 )
| |
— . |
]
2
2 (2015 ) NaCl
NaOH.Cl, H,

2NaCl +2H,0 ==2NaOH +H, 1 +Cl, 1

NaCl 87.3¢
NaCl 0.2g H,.
(1)  NaCl Cl,
g NaCl g
(2) NaCl NaOH
? ( Cl, H,

87.3g-7.1g-0.2g=80¢g

2NaCl +2H,0 ==2NaOH + H, T +Cl, 1

80 2

x 0.2 ¢
80 x
2702 “T8E



© 36 2016 8

4 »»
313200
1 (2008 ) (K,S,0y) .
I L,: o
S,0;” +21"=—=280; +1, \
Fe'* \Fe* 2 (2007 ) 3L
o Fe'* (
: R ( ) Cu,0/Zn0) :
CO(g) +2H,(g)==CH,0H(¢g)
. (4)
(4) Cu, 0
Co, Cu,0
. _ ) o
Fe3+ Fe3+ “«
Fe'* Fe'* ; Cu,0 ” “
2Fe’ " 421 =—=2Fe’" +1, Cu,0
S,07" +2Fe**=—=80>" +Fe’* Cu, 0 “ ” Cu,0
> - 8¢ % 100% =10% (3)40cC KCl
87.35-0.2g-17.1g ; 60°C
. ° ( “« ” “« ") .
3 C 3 ) (y 1 60°C
E— 5.5 1005
L ‘ | 45.5¢ :
— (2) 1
| | 90°C  100g KCl
3 30C
3 (2015 ) KCI ;
1: (3)40C  KCl 40. Og
1 . 40.0g y
C 0 10 20 30 4 0 6 70 8 9 10 40.0g +100g
100% =28.6%
. Z63L0M037.040.042.645.548.3 511 54.0 5.7
(1) 60cC 100 ¢ KCl 60°C o
- :
(2)90°C  100g KCl 30 (1)45.5 (2) < (3)28.6%
( “> ” “< » “_ ") IOOg, ( 12016 - 03 —12)



